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7.1.1 þþþ!!!uuu���������îîî���ÄÄÄ

(1). ���ÄÄÄ���ÅÅÅÄÄÄ���ÅÅÅnnn—ÜÜÜååå!!!uuu£££000���¤¤¤

(2). þþþ!!!!!!������uuu���������îîî������������ÄÄÄ

������uuu—ÃÃÃ���ÄÄÄ���uuu333   ;;;���´́́������������©©©
ÀÀÀuuuþþþ���:::¤¤¤333²²²ïïï   ��������������� x¶¶¶§§§îîî���   £££��� u©©©ÏÏÏddd§§§eee¡¡¡
���???ÖÖÖÒÒÒ´́́ïïïááá u(x, t)÷÷÷vvv������§§§©©©

uuu������ÄÄÄ´́́ÅÅÅ������ÄÄÄ§§§ÅÅÅ���$$$ÄÄÄ���ÄÄÄ���555ÆÆÆ´́́���:::ÄÄÄååå

ÆÆÆ—Newton111���½½½ÆÆÆ ~F = m~a©©©ÏÏÏdddIII���òòò���þþþþþþ!!!ëëëYYY©©©ÙÙÙ���uuu©©©
���éééõõõ������§§§ééézzz���������|||^̂̂ Newton111���½½½ÆÆÆ—ïïï���¦¦¦^̂̂������nnn
£££555ÆÆÆ¤¤¤©©©

Fx = T2 cos α2 − T1 cos α1 = 0,

Fu = T2 sin α2 − T1 sin α1.
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ÀÀÀJJJ²²²ïïï   ���333 (x, x + dx) þþþ��������� B \\\±±±ïïï
ÄÄÄ©©©ééé������uuu§§§§§§===ÉÉÉ���CCC������ A,C ���\\\���...
ååå ~T1, ~T2������^̂̂©©©

ddduuuuuuvvvkkkppp���£££x¶¶¶���¤¤¤���$$$ÄÄÄ§§§ÏÏÏddd§§§���^̂̂
uuu Bþþþ���ppp���ÜÜÜååå���"""©©©������ B¤¤¤ÉÉÉ			ååå���ppp!!!
îîî���©©©þþþ©©©OOO���

XXX^̂̂ ut t
(
∂u2/∂t2���   ���

)
LLL«««îîî���\\\���ÝÝÝ§§§KKK

T2 cos α2 − T1 cos α1 = 0, (7.1-1)

T2 sin α2 − T1 sin α1 = (ρds)ut t. (7.1-2)

ªªª¥¥¥§§§ρ—������ÝÝÝ§§§ds—������ B������ÝÝÝ©©©
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ddduuu===���ÄÄÄééé���������ÄÄÄ§§§ÏÏÏddd α1, α2������þþþ§§§¤¤¤±±±§§§

cos α1 = 1 − α2
1/2 + · · · � 1 , sin α1 = α1 − α

3
1/3! + · · · � α1,

cos α2 = 1 − α2
2/2 + · · · � 1 , sin α2 = α2 − α

3
2/3! + · · · � α2,

tgα1 = ux |x£££::: x������ÇÇÇ¤¤¤, tgα2 = ux |x+dx£££::: x + dx������ÇÇÇ¤¤¤,

ds =
√

(dx)2 + (du)2 =

√
1 + u2

xdx �
√

1 + tg2αdx � dx.

¤¤¤±±±§§§ªªª(7.1-1)ÚÚÚ(7.1-2)CCC���£££uuu dx333���ÄÄÄLLL§§§¥¥¥���þþþØØØCCC¤¤¤

T2 − T1 = 0, (7.1-3)

T2ux |x+dx − T1ux |x = ut tρdx. (7.1-4)

������§§§uuu¥¥¥���ÜÜÜåååQQQ��� xÃÃÃ'''§§§������ t ÃÃÃ'''§§§´́́���~~~êêê§§§PPP��� T©©©
ªªª(7.1-4)¤¤¤���

T (ux |x+dx − ux |x) = ρut tdx,

T
ux |x+dx − ux |x

dx
= ρut t,
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PPP uxx =
ux |x+dx − ux |x

dx
.

��� Bááá���$$$ÄÄÄ���§§§���

ρut t − Tuxx = 0. (7.1-5)

ùùùÒÒÒ´́́uuu. ���. ÄÄÄ. ���. §§§. ©©©éééþþþ!!!uuu§§§ρ ´́́~~~êêê§§§---

a2 =
T
ρ
, ±±±���òòò������ùùù���´́́���ÄÄÄDDDÂÂÂ������ÝÝÝ,

KKK

ut t − a2uxx = 0. (7.1-6)

(3). ???ØØØ

:XXXJJJuuuÉÉÉ���			\\\îîî���rrr½½½ååå���^̂̂§§§zzzüüü   ���ÝÝÝuuu¤¤¤ÉÉÉrrr½½½VVV���

~F(x, t)§§§KKK

ut t − a2uxx = f (x, t), (7.1-7)



• First • Prev • Next • Last • Go Back • Full Screen • Close • Quit

§7.1. êÆÔn�§�ïá—êÆï� 11/81

f (x, t) =
F(x, t)
ρ

ååå���ÝÝÝ.

f (x, t)—t ���������^̂̂uuu x???üüü   ���þþþ���îîî���rrr½½½ååå©©©ªªª(7.1-7)¡¡¡���uuu���
ÉÉÉ. ½½½. ���. ÄÄÄ. ���. §§§. §§§ªªª(7.1-6)¡¡¡���uuu���ggg. ddd. ���. ÄÄÄ. ���. §§§. ©©©

:ééénnn������ÄÄÄ§§§ÓÓÓnnn������

ut t − a2 (
uxx + uyy + uzz

)
= f (x, y, z, t).

7.1.2 þþþ���\\\���ppp���ÄÄÄ

(1). ppp���ÄÄÄ���pppÅÅÅ���ÅÅÅnnn—ÜÜÜåååÚÚÚ\\\£££000���¤¤¤

(2). þþþ���\\\���ppp���ÄÄÄ

ÓÓÓîîî������ÄÄÄ§§§ØØØ\\\������ÄÄÄ   £££333ppp���			©©©EEE,,,æææ^̂̂������{{{©©©

ÀÀÀJJJ²²²ïïï   ���333 (x, x + dx)þþþ��������� B©©©333���ÄÄÄLLL§§§¥¥¥§§§B������
���þþþ£££   £££¤¤¤������ééé������ ux ´́́ x���¼¼¼êêê§§§333 B���üüüààà
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u(x + dx, t) − u(x, t) = du |t

���ééé���������

u(x + dx, t) − u(x, t)
dx

=
du|t
dx
=

∂u
∂xdx
dx
= ux.

ux|x , ux|x+dx©©©ddduuu Hoke½½½ÆÆÆ§§§Büüüààà���ÜÜÜAAAååå½½½���rrr£££üüü   îîî���¡¡¡
üüü���������ppp���^̂̂ååå¤¤¤©©©OOO���

Yux|x, Yux|x+dx©©

Y—Young¼¼¼���þþþµµµ333���555���ÝÝÝSSS§§§ÜÜÜAAAååå������ééé������£££���CCC¤¤¤���
'''§§§===

Y =
F/S
ux

.
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ÏÏÏddd§§§ÙÙÙ$$$ÄÄÄ���§§§���

ρ(Sdx)ut t = Y (ux |x+dx − ux |x) S = YS
ux |x+dx − ux |x

dx
dx,

= YSuxxdx.

===

ρut t − Yuxx = 0, gggdddppp���ÄÄÄ���§§§. (7.1-8)

---

a2 =
Y
ρ
, DDDÂÂÂ���ÝÝÝ,

ut t − a2uxx = 0 (7.1-9)

������§§§ppp���ÄÄÄ���§§§���îîî���ÄÄÄ���§§§äääkkk���������///ªªª©©©

ééébbb���ppp���ÉÉÉ½½½���ÄÄÄ§§§���§§§������îîî���ÄÄÄ���������ÓÓÓ§§§���´́́ÙÙÙ¥¥¥

f (x, t)AAAnnn)))���\\\zzzüüü   îîî���¡¡¡zzzüüü   ���þþþþþþ¤¤¤ÉÉÉ���ppp���			ååå©©©
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7.1.3 DDDÑÑÑ������§§§—>>>������§§§£££ØØØ���¦¦¦¤¤¤
NNN´́́yyy²²²§§§nnn���DDDÑÑÑ���£££������>>>{{{ RÚÚÚ���mmm>>>¦¦¦ Gééé������DDDÑÑÑ

���¤¤¤���§§§£££>>>������§§§¤¤¤���

jt t − a2 jxx = 0,

vt t − a2vxx = 0.

ÙÙÙ¥¥¥§§§a2 = 1/LC = c2===111������²²²���©©©

7.1.4 þþþ!!!���������������îîî���ÄÄÄ
NNN´́́yyy²²²§§§þþþ!!!���������������îîî���ÄÄÄ���§§§���

ut t − a2∆2u = 0, gggddd���ÄÄÄ���§§§,

ut t − a2∆2u = f (x, y, t), ÉÉÉ½½½���ÄÄÄ���§§§.
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ÙÙÙ¥¥¥§§§∆2¡¡¡��������� Laplace���ÎÎÎ§§§½½½ÂÂÂ���

∆2u =
∂2

∂x2 +
∂2

∂y2 = ∇ · ∇,

nnn��� Laplace���ÎÎÎ´́́

∆3 =
∂2

∂x2 +
∂2

∂y2 +
∂2

∂z2 = ∇ · ∇,

a2 = T/ρ������þþþ���ÄÄÄDDDÂÂÂ������ÝÝÝ§§§ f (x, y, t) = F(x, y, t)/ρ������^̂̂uuuüüü
   ¡¡¡ÈÈÈüüü   ���þþþþþþ���îîî���			ååå©©©

7.1.5 666NNNåååÆÆÆ���(((ÆÆÆ���§§§£££ÑÑÑ¤¤¤
666NNNåååÆÆÆ¥¥¥ïïïÄÄÄ���ÔÔÔnnnþþþ´́́666NNN���666ÄÄÄ���ÝÝÝ v!!!ØØØrrr pÚÚÚ���ÝÝÝ

ρ©©©éééuuu(((ÅÅÅ333���ííí¥¥¥���DDDÂÂÂ§§§���AAA///���ïïïÄÄÄ���ííí���:::333²²²ïïï   ���NNN

CCC������ÄÄÄ���ÝÝÝ v!!!���ííí���ØØØrrr pÚÚÚ���ÝÝÝ ρ©©©ÔÔÔNNN������ÄÄÄÚÚÚååå±±±������ííí
ØØØrrrÚÚÚ���ÝÝÝ���CCCzzz§§§¦¦¦���ííí¥¥¥///¤¤¤ÕÕÕ������mmm���GGG���§§§ùùù«««ÕÕÕ������mmmGGG

������±±±������DDDÂÂÂ///¤¤¤(((ÅÅÅ©©©
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���±±±yyy²²²§§§nnn���666NNN£££ÃÃÃÊÊÊ555ÚÚÚÃÃÃ^̂̂555¤¤¤¥¥¥(((ÅÅÅ���§§§���

ut t − a2∆3u = 0,

ÙÙÙ¥¥¥§§§a2 =
γp0
ρ0
§§§p0ÚÚÚ ρ0 ´́́���ííí???uuu²²²ïïïGGG���������ØØØrrrÚÚÚ���ÝÝÝ©©©

7.1.6 Maxwell>>>^̂̂ÅÅÅ���§§§
333>>>^̂̂ÆÆÆÚÚÚ>>>ÄÄÄåååÆÆÆ¥¥¥§§§ddd���©©©///ªªª���Maxwell���§§§|||���±±±yyy

²²²§§§ýýý���¥¥¥���>>>^̂̂ÅÅÅ���§§§£££333IIISSSüüü   eee¤¤¤���

~Et t − a2∆3 ~E = 0,
~Ht t − a2∆3 ~H = 0.

ÙÙÙ¥¥¥§§§a2 = 1/µ0ε0111������²²²���§§§~EÚÚÚ ~H©©©OOO´́́>>>|||rrrÝÝÝÚÚÚ^̂̂|||rrr
ÝÝÝ©©©

±±±. þþþ. ���. ���. LLL. §§§. §§§///. ªªª. ÚÚÚ. ¢¢¢. ���. ÑÑÑ. kkk. ���. ÉÉÉ. §§§���. 333. êêê. ÆÆÆ. £££. ããã. þþþ. §§§§§§. ���. ���.
ÅÅÅ. ���. ÓÓÓ. ���. 555. ÆÆÆ. —ÑÑÑ. ´́́. ÅÅÅ. ÄÄÄ. ///. ªªª. ���. ���. §§§. ©©©
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7.1.7 ***ÑÑÑ���§§§
ddduuußßßÝÝÝ£££���fff!!!©©©fffêêê½½½���þþþ¤¤¤ØØØþþþ!!!§§§ÔÔÔ���dddßßßÝÝÝ������///���

���ßßßÝÝÝ������///���===£££���yyy���¡¡¡���***ÑÑÑ©©©

1. ïïïÄÄÄ���ÔÔÔnnnþþþ

ßßßÝÝÝ������mmm©©©ÙÙÙÚÚÚ���mmmCCCzzz´́́ u(x, y, z, t)§§§ÄÄÄ���???ÖÖÖÒÒÒ´́́���ïïïááá
u(x, y, z, t)÷÷÷vvv������§§§©©©

2. ***ÑÑÑ���555ÆÆÆ

��� ßßßÝÝÝFFFÝÝÝ—£££ãããßßßÝÝÝØØØþþþ!!!���§§§ÝÝÝ§§§^̂̂ßßßÝÝÝ÷÷÷ßßßÝÝÝ���þþþ¡¡¡{{{������
êêê—FFFÝÝÝ555£££ããã§§§PPP��� ∇u©©©===

∇ =
∂

∂x
î +

∂

∂y
ĵ +

∂

∂z
k̂ = grad—FFFÝÝÝ���ÎÎÎ.
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��� ***ÑÑÑ666rrrÝÝÝ—üüü   ���mmmÏÏÏLLLüüü   ���¡¡¡������fff!!!©©©fff½½½���þþþêêê§§§PPP
��� ~q©©©ddd***ÑÑÑ½½½ÆÆÆ£££ÜÜÜ���½½½ÆÆÆ¤¤¤(((½½½§§§¢¢¢���yyy²²²µµµ

~q = −D∇u,

D—***ÑÑÑXXXêêê§§§´́́ÔÔÔ���!!!���!!!���ÚÚÚ§§§ÝÝÝ���¼¼¼êêê©©©
��� UUUþþþ£££âââfffêêê¤¤¤ÅÅÅððð½½½ÆÆÆ—444ÜÜÜ­­­¡¡¡SSSüüü   ���mmmOOO\\\���âââfffêêê���
uuuüüü   ���mmmSSSÀÀÀ666\\\444ÜÜÜ­­­¡¡¡SSS���âââfffêêê���444ÜÜÜ­­­¡¡¡SSSÀÀÀ���)))���

âââfff������ÚÚÚ©©©

3. ***ÑÑÑ���§§§

���{{{áááååå���§§§������������444ÜÜÜ­­­¡¡¡SSS������NNN���NNN��� dV = dxdydz§§§
üüü   ���mmmSSS��� x���������***ÑÑÑµµµ���333 x???²²²���ýýý¡¡¡666\\\���666þþþ´́́

qx |x dydz
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333 x + dx???²²²dddýýý¡¡¡666ÑÑÑ���âââfffêêê���

qx |x+dx dydz.

uuu´́́§§§üüü   ���mmmSSS÷÷÷ x¶¶¶ÀÀÀ666\\\þþþ���

− (qx |x+dx − qx |x) dydz = −
∂qx

∂x
dxdydz =

∂

∂x

(
D
∂u
∂x

)
dV

ÓÓÓnnn§§§÷÷÷ y, z������ÀÀÀ666\\\þþþ���
∂

∂y

(
D
∂u
∂y

)
dV,

∂

∂z

(
D
∂u
∂z

)
dV.

éééuuuvvvkkk


ÚÚÚ®®®������¹¹¹§§§kkkâââfffêêêÅÅÅððð½½½ÆÆÆ§§§���

üüü   ���mmmSSS������¥¥¥OOO\\\���âââfffêêê =üüü   ���mmmSSSÀÀÀ666\\\þþþ

===

∂u
∂t

dV =
[
∂

∂x

(
D
∂u
∂x

)
+
∂

∂y

(
D
∂u
∂y

)
+
∂

∂z

(
D
∂u
∂z

)]
dV,
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ut −

[
∂

∂x

(
D
∂u
∂x

)
+
∂

∂y

(
D
∂u
∂y

)
+
∂

∂z

(
D
∂u
∂z

)]
= 0.

ùùùÒÒÒ´́́nnn���ÃÃÃ


ÃÃÃ®®®���***ÑÑÑ���§§§©©©��� D ´́́���mmm~~~êêê���§§§kkk

ut − D∆3u = 0 or ut − D
(
uxx + uyy + uzz

)
= 0.

ªªª¥¥¥§§§

∆3 =
∂2

∂x2 +
∂2

∂y2 +
∂2

∂x2 ,

¡¡¡���nnn��� Laplace���fff©©©XXX---

a2 = D,

KKK

ut − a2∆3u = 0.

éééuuukkk


������¹¹¹§§§XXX


rrrÝÝÝ£££üüü   ���mmmüüü   NNNÈÈÈ¥¥¥���)))���âââfff
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êêê¤¤¤��� F(x, y, z, t)§§§������ßßßÝÝÝ uÃÃÃ'''§§§KKK

ut −

[
∂

∂x

(
D
∂u
∂x

)
+
∂

∂y

(
D
∂u
∂y

)
+
∂

∂z

(
D
∂u
∂z

)]
= F(x, y, z, t),

ut − a2∆3u = F(x, y, z, t).

éééuuu F(x, y, z, t) = b2u���

ut − a2∆3u − b2u = 0.

7.1.8 999DDD������§§§
999DDD���´́́ÏÏÏ§§§ÝÝÝØØØþþþ!!!


ÚÚÚååå���©©©ÏÏÏddd§§§ØØØ


ÔÔÔnnnþþþØØØÓÓÓ			§§§§§§

���***ÑÑÑLLL§§§���ÅÅÅ���ÓÓÓ������§§§©©©éééuuuþþþ!!!ÔÔÔNNNSSSÃÃÃ


ÃÃÃ®®®������¹¹¹§§§nnn���

999DDD������§§§���

cρut −

[
∂

∂x

(
k
∂u
∂x

)
+
∂

∂y

(
k
∂u
∂y

)
+
∂

∂z

(
k
∂u
∂z

)]
= 0,

ut − a2∆3u = 0.
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ÙÙÙ¥¥¥§§§c ´́́'''999§§§ρ ´́́���ÝÝÝ§§§k���999DDD���XXXêêê§§§éééþþþ!!!ÔÔÔNNN§§§§§§���´́́
~~~êêê©©©a2���

a2 =
k

cρ
XXXJJJ333ÔÔÔNNNSSS���333999


§§§999


rrrÝÝÝ£££üüü   ���mmm333üüü   NNNÈÈÈ¥¥¥���)))

���999þþþ¤¤¤��� F(x, y, z, t)§§§999DDD������§§§CCC���

cρut −

[
∂

∂x

(
k
∂u
∂x

)
+
∂

∂y

(
k
∂u
∂y

)
+
∂

∂z

(
k
∂u
∂z

)]
= F(x, y, z, t).

éééþþþ!!!ÔÔÔNNN§§§???���ÚÚÚ{{{zzz���

ut − a2∆3u = f (x, y, z, t).

ÙÙÙ¥¥¥ f (x, y, z, t) = F(x, y, z, t)/cρ¡¡¡���999


rrrÝÝÝ©©©

7.1.9 ­­­½½½ßßßÝÝÝ©©©ÙÙÙ
XXXJJJ***ÑÑÑ


rrrÝÝÝ F(x, y, z, t)ØØØ������mmmCCCzzz§§§***ÑÑÑ$$$ÄÄÄ±±±YYY???111eee



• First • Prev • Next • Last • Go Back • Full Screen • Close • Quit

§7.1. êÆÔn�§�ïá—êÆï� 23/81

���§§§���ªªª������­­­½½½GGG§§§���mmm���:::���ßßßÝÝÝØØØ222������mmmCCCzzz§§§=== ut = 0§§§
uuu´́́§§§XXX***ÑÑÑXXXêêê D ´́́~~~êêê§§§***ÑÑÑ���§§§{{{zzz���

D∆3u = −F(x, y, z, t).

¡¡¡��� Poisson���§§§©©©XXXÃÃÃ


§§§KKK

∆3u = 0.

¡¡¡��� Laplace���§§§©©©þþþ¡¡¡üüü������§§§ÒÒÒ´́́­­­½½½ßßßÝÝÝ©©©ÙÙÙ���***ÑÑÑ���§§§©©©

7.1.10 ­­­½½½§§§ÝÝÝ©©©ÙÙÙ
XXXJJJ999


rrrÝÝÝîîî F(x, y, z, t)ØØØ������mmmCCCzzz§§§999DDD���±±±YYY???111eee

���§§§���ªªªòòò������­­­½½½GGG���§§§���mmm¥¥¥���:::���§§§ÝÝÝØØØ222������mmmCCCzzz§§§===

ut = 0§§§uuu´́́§§§uuu´́́§§§XXX999DDD���XXXêêê k ´́́~~~êêê§§§999DDD������§§§{{{zzz���§§§

k∆3u = −F(x, y, z, t).
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¡¡¡��� Poisson���§§§©©©XXXÃÃÃ999


§§§KKK

∆3u = 0.

¡¡¡��� Laplace���§§§©©©þþþ¡¡¡üüü������§§§ÒÒÒ´́́­­­½½½§§§ÝÝÝ©©©ÙÙÙ���999DDD������§§§©©©

7.1.11 ···>>>|||
···>>>|||ddd Gauss½½½nnnÚÚÚ���666½½½nnn������£££ããã§§§===∮
Σ

~E · d~S =
1
ε0

∫
T
ρdV,∮

L
~E · d~̀ = 0.

ddd Stokesúúúªªª§§§���∮
Σ

~E · d~S =
∫

T
∇ · ~EdV =

1
ε0

∫
T
ρdV = :∇ · ~E =

ρ

ε0
,∮

L
~E · d~̀ =

∫
Σ

∇ × ~E · d~S = 0 = :∇ × ~E = 0.
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ddd···>>>|||���ÃÃÃ^̂̂555������§§§|||rrr ~E���������LLL«««���,,,���IIIþþþ¼¼¼êêê���FFFÝÝÝ

~E = −∇V.

TTTIIIþþþ¼¼¼êêê¡¡¡���>>>³³³§§§���\\\þþþ¡¡¡���ÑÑÑÝÝÝ���§§§§§§���

∇ · (−∇V) =
1
ε0
ρ,

∆3V = −
ρ

ε0
.

ùùùÒÒÒ´́́···>>>|||���³³³¼¼¼êêê¤¤¤÷÷÷vvv���···>>>|||���§§§§§§´́́ Poisson���§§§©©©333ÃÃÃ



���mmm§§§ρ = 0§§§Poisson���§§§{{{zzz��� Laplace���§§§

∆3V = 0.
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7.1.12 ­­­ððð>>>666|||£££ØØØ���¦¦¦¤¤¤

7.1.13 bbb���������îîî���ÄÄÄ£££ØØØ���¦¦¦¤¤¤

7.1.14 þþþfffåååÆÆÆ��� Schrödinger���§§§
±±±þþþ���~~~???ØØØ���´́́²²²;;;ÔÔÔnnnÆÆÆ������///©©©������,,,���aaa~~~fff§§§ùùùpppJJJ

���eeeþþþfffåååÆÆÆ��� Schrödinger���§§§©©©���***¨̈̈fff333³³³||| V(x, y, z, t)¥¥¥§§§
ÅÅÅ¼¼¼êêê u (���ÎÎÎÒÒÒccc������000ååå���§§§ùùùppp^̂̂ uLLL«««ÅÅÅ¼¼¼êêê§§§


333þþþuuuååå
ÆÆÆ¥¥¥ÏÏÏ~~~´́́^̂̂ ψ)§§§÷÷÷vvv Schrödinger���§§§

i~2ut = −
~

2

2m
∆u + Vu.

ùùùpppXXXêêê¥¥¥ÑÑÑyyyJJJêêêüüü    i§§§


ccc¡¡¡¤¤¤ùùù���§§§���XXXêêê���´́́¢¢¢êêê©©©³³³UUU
VØØØwww¹¹¹���mmm t ���¹¹¹������½½½���©©©éééuuu½½½���§§§þþþ¡¡¡������§§§{{{zzz���½½½���
Schrödinger���§§§

−
~

2

2m
∆u + Vu = Eu.
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E������***âââfffNNNXXX���UUUþþþ©©©

:~~~

:~~~¬¬¬<<<ããã7-7���½½½ãããuuu������LLL§§§ííí���uuu���ÄÄÄ���§§§©©©£££P.152§§§1¤¤¤

)))µµµ��� x��� x + dx���½½½ãããuuu§§§ùùùãããuuuÃÃÃppp������
ÄÄÄ§§§¤¤¤±±±ppp���ÜÜÜååå���"""§§§

T2 cos α2 − T1 cos α1 = 0.

½½½ãããuuu���îîî���ÄÄÄ���§§§���

T1 sin α1 − T2 sin α2 = ut tρds.

333������ÄÄÄ������¹¹¹eee§§§kkk

α1 ≈ α2 ≈ 0, cos α1 ≈ cos α2 ≈ 1,

du ≈ 0, ds =
√

dx2 + du2 ≈ dx,
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sin α1 ≈ tgα1, sin α2 ≈ tgα2,

XXXKKK©©©ããã¤¤¤«««§§§

tgα1 = −ux|x, tgα2 = −ux|x+dx,

���333������ÄÄÄ������¹¹¹eee§§§$$$ÄÄÄ���§§§���{
T1 = T2,

T2ux|x+dx − T1ux|x = ut tρdx,
===

T∂u
∂x

∣∣
x+dx − T∂u

∂x

∣∣
x

dx
= ρut t,

þþþªªª���>>>===

T
∂ux

∂x
= T

∂2u
∂x2

¤¤¤±±±§§§--- a2 = T
ρ§§§kkk

ut t − a2uxx = 0.
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ùùùÒÒÒ´́́¤¤¤¦¦¦���ÄÄÄ���§§§©©©
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